Problem(s):

1.) How can you get the average mass of 1 bean in a pile of 100?

2.) How can you create a “relative mass” for each of the four beans that you have?

3.) How can you count the number of beans that are in each of the four “relative masses” that you created?

Material: 100 bean piles of four different kinds of beans, balance and beaker.

Average mass of 1 bean = mass of 100 beans
          100
Data:

	
	Bean 1
	Bean 2


	Bean 3
	Bean 4

	Mass of 100 beans
	
	
	
	

	Average mass of 1 bean
	
	
	
	

	Relative Mass
	
	
	
	

	Calculated number of beans in 1 relative mass
	
	
	
	

	Measured number of beans in 1 relative mass
	
	
	
	


                              average mass of 1 bean

Relative mass=   Aver. mass of lightest bean

Calculated



Relative Mass

# of beans in 1 relative mass =  Average mass of 1 bean

Conclusion.  Use complete sentences to answer the following:
1.) What is the mole?  What is it for?

2.) What is a “relative mass”?  Why are all of the masses on the P. Table considered “relative masses”?  How were the masses on the P. table calculated?

3.) How did you calculate your “relative mass” in lab?  How is this related to hydrogen and the periodic table? 

